F39[E—AZ=DRkIE

R EEMGC

445858

5
17

11
18

NH
19

NH

23
26
31
10
14

NH
16
12

[1:{ v K4 OUT IN GROSS HC NET}RS
=i e BL 43 42 85| 7.0 78.0
241 b KB 51 46 97| 19.0] 78.0
34 Ak F 57 53 110| 26.0| 84.0
44 s = 47 41 88 2.0/ 86.0
5 {1 BE 52 48 100 9.0] 91.0
6 {i Bx MiE 51 53 104| 16.0| 88.0
E38E—A=DKE R BEMGC  ©H3F1183H

N4z K4 OUT IN GROSS HC NET
=i b ®KB 47 46 93| 26.0] 67.0
241 BE 48 43 91| 10.0] 81.0
34 s = 42 43 85| 2.0 83.0
443 e BL 46 46 92 7.0 85.0
54 BX g 52 51 103| 16.0] 87.0
6 i w*E 5 54 56 110| 23.0] 87.0
EI7E—A2DHRE R BEMNGCR  wi1FE586H

N4z K4 OUT IN GROSS HC NET
=5 Lilg ZFsA 41 42 83| 3.0 80.0
24 e BL 44 49 93| 8.0/ 85.0
31 Bx M 53 49 102| 16.0] 86.0
4{iL w*x 5 55 59 114| 21.0] 93.0
5 {i b =SB 58 60 118| 24.0] 94.0
6 {i ma A 66 58 124| 29.0] 95.0
7 {i EE sk 57 48 105 8.0 97.0
8{if m BE& 54 55 109| 12.0] 97.0
E36E—ARDE R EENGC  EM30FE1184H

NEfsz K4 OUT IN GROSS HC NET
=85 Bx M 45 46 91| 20.0] 71.0
24 m BE& 44 48 92| 14.0] 78.0
34 g = 44 38 82 3.0l 79.0
44 b5 =SB 48 55 103| 24.0] 79.0
5{iI BHE sk 44 47 91| 8.0 83.0
6 fif se B 51 46 97 8.0/ 89.0
7 i mE #MA 66 55 121| 27.0] 94.0

35[0 —A=DRkIE

n:&EMBGC R EMH304F5H6H

N4z K& ouT IN GROSS HC NET
25 L =5h 43 45 88| 4.0 84.0
21 EE M 45 51 96| 9.0 87.0
34 1 Ri% 54 48 102] 12.0f 90.0
44u #e BL 47 54 101] 6.0 95.0
5 {ir Wwx 5 64 51 115] 19.0f 96.0
6 fir BA MiE 59 59 118] 18.0f 100.0
741 this =5 56 68 124] 22.0| 102.0

34O —A=DRkIE

R EBEMGC k29 11H23H

29

NH

14

21
20
24



i s MBIL 45 46 91| 8.0 83.0
2{iL WAk 5 49 55 104| 21.0 83.0
34 b R5B 50 56 106| 22.0 84.0
44 g = 44 46 90| 4.0 86.0
5 {fif | s 54 45 99| 12.0 87.0
6 i BHE sk 47 50 97| 7.0 90.0

E33M—A=DIE R EEMGCR Fk29F5H87H

=1 g E5A 40 42 82| 5.0 77.0
24 R B 47 45 92| 9.0 83.0
34 Y ¥ 51 47 98| 12.0 86.0
44 b1 1 46 48 94| 7.0 87.0
5 {if e BIL 51 45 96| 8.0 88.0
6 i wx 5 56 53 109| 21.0 88.0
7 fiL b =SB 59 57 116] 20.0 96.0
8{if BA fiE 57 56 113]| 16.0 97.0

EI2E—A=OME R BEMGC Frk28%1183H
N4z K& ouT IN GROSS HC NET

=85 s = 44 38 82 6.0 76.0
24 BRE Bk 45 43 88| 10.0] 78.0
31 Bx M 50 46 96| 16.0] 80.0
4{iL EE sk 46 43 89| 7.0 82.0
5 {i se B 47 45 92| 8.0 84.0
6 fif b =SB 53 52 105| 20.0] 85.0
7 i w*x 5 63 50 113| 20.0] 93.0

E31M—A=DkiE R BEGC F284585H

N4z K& ouT IN GROSS HC NET
25 BHE N 49 44 93| 9.0 84.0
241 WAk 35 51 55 106| 22.0f 84.0
34 BA iE 52 50 102] 16.0] 86.0
4{u e BL 48 48 96| 8.0 88.0
541 hi =5 55 54 109| 20.0f 89.0
6 fir g =5 50 45 95 5.0 90.0
74 1 i 48 54 102| 12.0f 90.0

$E30E—ALOME R £FSECCR) TRHK274E586H

N4z K& ouT IN GROSS HC NET
25 BHE N 43 40 83| 13.0f 70.0
21 (1TF S 54 44 98| 24.0( 74.0
34 g =5 45 38 83| 5.0f 78.0
44u 1 Ri% 45 47 92| 12.0f 80.0
541 B MiE 52 47 99| 16.0f 83.0
6 fir #e BL 52 44 96| 8.0 88.0
7 iz BAE IE# 56 57 113] 23.0f 90.0
8{i RE HMA 59 65 124] 26.0] 98.0

NH
6
19

NH

22
18

NH

21

NH

20

13

NH

22

24
27



F2M—A=DkiE R AFSFRECC(R) Trk2745H6H

NEfsz K& ouT IN GROSS HC NET Rl
25 8 Ri& 47 46 93| 15.0f 78.0( 12
241 BE N 47 47 94| 15.0f 79.0( 13
31 Wwx 5 51 54 105] 24.0f 81.0
44u g = 45 43 88| 5.0 83.0
54 e BL 46 51 97 8.0 89.0
6 fir B MiE 54 51 105] 15.0f 90.0( 16
74 hif =5 49 61 110] 19.0f 91.0( 20

$E28M—A=DkiE N AFRRCC(R) FAk2668H17H

N4z K& ouT IN GROSS HC NET !
25 BA MiE 51 43 94| 19.0f 75.0( 15
21 g = 45 41 86| 6.0 80.0f 5
34 e BL 43 48 91 9.0 82.0
411 5 RSB 50 51 101} 19.0f 82.0
54 BE Ak 47 48 95( 10.0f 85.0
6 fi BA IE# 53 55 108] 23.0f 85.0
74 BE M 51 51 102] 15.0f 87.0
8{i Y =] 49 55 104] 15.0f 89.0
9 fir Wwx 5 53 61 114] 23.0f 91.0(24
104 we #MA 60 56 116] 25.0f 91.0( 26

F27E—A=DkiE R EFSECC Fak266F5H6H

[:1iv K4 OUT IN GROSS HC NETR
=5 (1177 =1\ 42 39 81| 8.0 73.0] 6
241 e BIL 44 46 90| 10.0{ 80.0| 9
3 i RSB 48 52 100| 20.0] 80.0| 19
44 JH & 50 46 96| 15.0f 81.0

5{i BE % 56 42 98| 15.0f 83.0

6 {iI B\A Mg 59 49 108| 18.0] 90.0| 19
7 {1 BA E# 59 55 114| 22.0| 92.0|23
84iL Ix = 59 55 114| 22.0| 92.0{23
9 {i ke fA 61 55 116| 24.0{ 92.0| 25

F26M—A=DiE R AFRRCC FM25%48H11H

[:1iv K& OUT IN GROSS HC NET}NS
=i b = 5 45 48 93| 19.0| 74.0| 15
24 BA Mg 48 47 95| 20.0| 75.0| 18
3{i hif =B 47 50 97| 20.0| 77.0
44 (1] BN 43 44 87| 8.0l 79.0
5{i BE % 52 46 98| 15.0f 83.0
6 i wx = 55 52 107| 22.0] 85.0
7 i mE MA 64 56 120| 23.0] 97.0| 24

E25E—AREDHHE RN EFSRCC T254586H
NEfsz K& ouT IN GROSS HC NET Gl
25 RE HMA 49 53 102] 29.0(f 73.0( 23




24 8 Ri& 49 46 95( 21.0f 74.0
34 W& 35 47 52 99| 22.0f 77.0
44u e BL 46 42 88| 10.0f 78.0
541 BE N 50 43 93| 15.0f 78.0
6 fir BA MiE 50 50 100|] 20.0f 80.0
74 (117 =t 46 43 89| 8.0 81.0
81i thif =5 50 55 105] 20.0f 85.0

55240 —AE=DRKIE

R AEFRRCC F2445H6H

19

10
20
8

N4z K& ouT IN GROSS HC NET QN
25 e BL 44 41 85 14.0f 71.0
24u B #MiE 50 47 97| 22.0f 75.0
34 W =5h 43 43 86| 9.0 77.0
44 BA IE# 51 48 99| 22.0f 77.0
54 BE M 44 49 93| 15.0f 78.0
6 fi Y ¥ 48 54 102] 21.0f 81.0
74 wx 5 56 50 106| 22.0] 84.0
8{i 5 RSB 55 55 110] 20.0f 90.0
9 fir BAR B 57 79 136] 36.0| 100.0

5523El—AREDRkIE

R EFSERCC k2345558

29
10
14

N4z K& ouT IN GROSS HC NET !
25 Re MA 55 53 108] 36.0| 72.0
21 BE EE 44 41 85| 11.0f 74.0
34 e BL 45 44 89| 15.0f 74.0
41 BA IE#H 51 46 97| 22.0f 75.0
54 BHE N 46 46 92| 15.0f 77.0
6 fir 1 Ri% 49 52 101} 21.0f 80.0
74 BA MiE 52 51 103] 22.0f 81.0
81i L =3A 42 49 91 9.0 82.0
9 fir Wwx 5 50 54 104 22.0f 82.0
104 i RSB 48 56 104] 20.0f 84.0

5220 —A=DRkHE

R EFFSRCC(R) k224118130

NE43z K& ouT IN GROSS HC NET
25 this =5 47 48 95( 30.0f 65.0
241 BA IEH 44 56 100| 24.0f 76.0
31 L =5h 46 44 90| 10.0f 80.0
4{u BHE N 48 48 96| 15.0f 81.0
54 1 Ri% 50 55 105| 21.0f 84.0
6 fir ke A 55 66 121] 36.0f 85.0
741 e BL 52 49 101} 15.0f 86.0
84 B MiE 54 54 108] 22.0f 86.0

F21[E—AZ=DRkIE

NEfz
=0

K&
WE Ak

R AR=TUBJLGC Fr2245H4H

ouT
42

IN GROSS HC NET

42

84

18.0

66.0

24

BE s

46

50

96

26.0

70.0




31{u 8 Ri& 46 50 96| 22.0f 74.0
44 WH &7 45 61 106] 31.5| 74.5
5 iz this =5 48 57 105] 30.0f 75.0
6 {i BE N 44 48 92| 15.0f 77.0
7 {u (1T]7 =t 1N 47 42 89| 10.0f 79.0
8{u e BL 47 48 95( 15.0f 80.0
9 {u (117 S 52 48 100] 19.2] 80.8
104z BAE IE# 54 54 108] 24.0] 84.0
114 MHE 8= 58 83 141] 40.0| 101.0

5520 —A=DRkIE

n EBSECC Fak21410824H

N4z K& ouT IN GROSS HC NET
25 W =5h 46 42 88| 13.2 74.8
24u BHE 43 42 85| 9.6 75.4
31z BE Ak 47 46 93| 15.6 77.4
44 e BL 47 44 91| 13.2 77.8
5 i BA MiE 52 47 99| 20.4 78.6
6 {i Y =1 55 52 107] 25.2] 81.8
7 iz hif =5 57 59 116]| 26.4| 89.6
8{u WHE #8F 59 67 126] 36.0f 90.0
9 fir WHE 8= 98 85 183] 36.0| 147.0

S 19El— A= DRkIE

R EFSERCC Fak2145H6H

1:Yivi K& OUT IN GROSS HC NET
= BE M 49 45 94| 22.8( 71.2
241 BAX Mg 50 45 95| 22.8| 72.2
34 (1] It 43 41 84| 9.6 74.4
4{u hig =B 49 49 98| 20.4| 77.6
5 i1 JH & 46 56 102| 24.0] 78.0
6 {i e BIL 46 41 87| 8.4 78.6
7§ BA IE# 48 46 94| 13.2[ 80.8
8{i BE & 46 50 96| 14.4| 81.6
9 i1 FH EA 59 58 117| 34.8| 82.2
104 =l 8F 70 66 136| 40.0] 96.0
114 WBH 8= 98 67 165| 36.0| 129.0

F18[E—A=DRkiE

NEfz

K4

nEFSECC Fak20%11H15H
IN GROSS HC NET

ouT

= 81| 7.2| 73.8
24 EE sk 43 40 83| 8.4 74.6
34 e BIE 45 47 92| 16.8| 75.2
441 b = 5 46 46 92| 15.6] 76.4
5 i1 BAa IE# 54 50 104| 25.2| 78.8
6 i Kix A 54 49 103| 20.4| 82.6
7 i1 i =B 59 46 105| 21.6| 83.4
84 B4 M 67 44 111| 26.4| 84.6
9 i1 =l &F 63 61 124| 37.2| 86.8
104 FIE EA 65 50 115| 26.4| 88.6




|11m

|[#2E

™M=

| 86|

81|

167| 4o.o| 127.o|

170 —A"=DRkIE

R EFBRCC FE2065H6H

NEfsz K& ouT IN GROSS HC NET
25 (1T]7 =t 1N 42 45 87| 144 72.6
24 BE N 44 47 91| 18.0f 73.0
31 8 Ri& 47 43 90| 13.2 76.8
44u Kix BRI 47 46 93| 15.6 77.4
54z BE & 52 55 107| 26.4] 80.6
6 fi e BL 46 46 92| 10.8| 81.2
74 hif =5 55 62 117] 27.6] 894

E16[0—A"=DRkiE

R REGC F19%10820H

N4z K& ouT IN GROSS HC NET
25 1 i 58 51 109] 30.0f 79.0
21 e BL 43 48 91| 10.8| 80.2
31 BE & 50 53 103] 22.8] 80.2
411 BHE 45 53 98| 16.8| 81.2
54 BE Ak 48 47 95 13.2 81.8
6 fi 5 RSB 56 53 109] 25.2] 83.8
74 BA MiE 54 57 111 26.4| 84.6
xSEER (EFSKRC CICTRARBNI>ARICSh)

(1T =t 47 41 88

Rix EsRl 57 53 110

B15EI—AZDMRAE

R ERCCRE TA18411H18H

[:1iv K4 OUT IN GROSS HC NET
&1 Wi =3A 45 48 93| 21.6| 71.4
24 Kix BRI 49 56 105| 30.0] 75.0
34 e BIL 48 49 97| 19.2| 77.8
44 BA IE# 54 55 109( 31.2| 77.8
5{i BRE EE 51 48 99| 18.0f 81.0
6 i BAX Mg 55 61 116| 34.8| 81.2
7 {1 BE M 53 53 106| 24.0| 82.0
84iL JH & 55 57 112| 25.2| 86.8

F14[O—A=DRkIE

NEfz

K4

R {ERCCHE ER17811H19H
IN GROSS HC NET

ouT

=255 (1] BN 48 46 94| 21.6| 72.4
2{i hig =SB 55 56 111]| 34.8| 76.2
3{i Kix BsA 50 54 104| 27.6| 76.4
441 EE sk 50 54 104| 27.6| 76.4
5{i e BIE 48 45 93| 15.6| 77.4
6 {iI B4 M 48 60 108| 30.0] 78.0
7 {1 1 i 57 45 102| 21.6| 80.4
84iL BRE Ak 46 54 100 19.2] 80.8

130 —A=DRkIE

R ERCCRE TR1745R48




N4z K& ouT IN GROSS HC NET
thi%

255 ot 51 51 102] 27.6|] 74.4
24 L =5k 49 42 91| 15,6 75.4
34 e BL 46 53 99| 22.8( 76.2
4 i1 8 Ri& 48 50 98| 21.6 76.4
541 BA IE# 50 54 104| 26.4| 77.6
6 {i BE M 49 59 108| 28.8] 79.2

120 —AE=DRkIE

R ERACCE TRi16611H27H

NEfsz K4 OUT IN GROSS HC NET
=5 Kix BA 48 48 9| 17 79
2{i BE EE 48 51 99| 17 82
34 e BIL 52 53 105 23 82
44 BE M 53 51 104 14 90
5{i BA IE# 57 52 109| 19 90
6 {iI BA miE 56 56 112 21 91
7 4L (117 I=1N 53 58 111 12 99

B11E—AR=DRHE " {ERCCH ¥Emk15F12H14H

NEfsz ouT IN GROSS HC NET

K4
20 B Mg

55 58 113 30 83
21 Rix  EsRl 56 53 109 25 84
34 g = 51 50 101 13 88
41 BHE 51 55 106 14 92
54 1 i 58 50 108 12 96
6 fir hf RSB 54 63 117 21 96
7 i1 BA IE# 65 58 123 19 104
81i e BL 75 55 130 23 107

F10EI—AZDMNAE

R ERCCER Tai14410H19H

N4z K& ouT IN GROSS HC NET
25 e BL 57 58 115 33 82
241 1 i 48 51 99 15 84
31 BA IE#H 52 53 105 21 84
4{u BHE N 45 54 99 14 85
5 fir (1T =t TN 50 49 99 13 86
6 fir hi =5 56 52 108 18 90

55 9 [@—A"Z=DRkiE

R ERCCE  FERi1443H16H

[:1iv K& OUT IN GROSS HC NET
=255 BRE A 53 48 101 25 76
pXiv] m Bi& 48 47 95| 18 77
3{i Kix A 49 53 102| 25 77
44 (1] 3 =11 48 45 93| 13 80
5{i e BIL 62 52 114| 33 81
6 i BH #& 57 56 113| 27 86
7 {1 BE M 54 47 101 14 87
81 =l &7 58 58 116| 28 88




EL: |#% =8 | 57| 59 116] 18] 98]
$E8E—ARDE M FECC  FR134£959H

MBS K& OUT IN GROSS HC NET
=0 EH #F 55| 63 118] 40 78
214k BE IE# 54 53 107 27 80
3{i Wi =3k 53[ 48 101] 14 87
a4 ] S 52[ 55 107 18 89
a4 hig =B 54| 53 107] 18 89
E7E—"E=DIEERIR U

FEoO—AREDME RN \IFEFGC FR124E8H20H

N4z K& ouT IN GROSS HC NET
B BHE 44 50 94 21 73
24 W =5h 43 50 93 18 75
31 BER BR¥ 50 49 99 24 75
441 BE & 60 47 107 27 80
5 fir 5sH #¥F 63 58 121 40 81
6 fir hif =5 58 46 104 18 86

55 5 Bl— =D&

R FECC Frpk1149H12H

1:Yivi K& OUT IN GROSS HC NET
= hif =B 47 55 102| 26 76
24 BER FE¥ 53 54 107| 30 77
34 BA IE# 59 54 113| 30 83
44 g = 49 54 103[ 18 85
5{i I & 47 61 108| 23 85
6 fiI Kix BRI 60 52 112| 25 87
7 4L wE BE 62 51 113| 25 88
81i EH #8F 72 69 141 40 101
FAEI—RRORME R EEGC  FR10412H20H

[:1iv K& OUT IN GROSS HC NET
=5 ) Bt 49 56 105 25 80
24 (1] BN 49 51 100 19 81
34 W R 55 55 110 24 86
44 i =B 57 55 112 26 86
5 {iz EE sk 58 54 112 21 91
6 fif Ba E# 68 54 122| 30 92
7 i BR Mg 61 64 125 30 95
EIM—A2D/kiE R ETFRECC FARIF11H30H

NEfsz K& ouT IN GROSS HC NET
25 (1T =t 1N 47 49 96 22 74
241 BH & 55 48 103 27 76
34 this =5 53 50 103 25 78
4{u Kix BRI 50 53 103 25 78
54 1 Ri% 54 46 100 21 79




6 {i BE M 45 55 100 20 80
74 R 5E 53 55 108 25 83
8{i BE & 60 49 109] 25 84
9 {ir BR BR¥ 55 58 113 27 86
104 RE HMA 55 61 116] 30 86
114 e BL 64 56 120 33 87
124 Fx &— 105 90 195 36 159
gE22E—AR=DE R EHSRKRCC  FR8F11817H

N4z K& ouT IN GROSS HC NET
20 m  RE

241 EE M

31 BE IE#H

44 ER BT

5{i B s NEAZDF»

6 fir hi =SB PAENER

7 i (1] =t

81i Kix BRI

9 fir LA Fs

FlE—AR=DkE R EFSRCC  FEHK8FIASH

N4z K& ouT IN GROSS HC NET
25 (1T =t 47 47 94 16 78
21 EE M 52 48 100 22 78
34 ER RT¥ 57 55 112 34 78
41 BE IE#H 57 58 1151 36 79
54 W R 54 53 107 27 80
6 fir his =5 59 49 108 28 80
7 i1 LA Fi 59 57 116] 34 82
8{i RE HMA 60 63 123 36 87




